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= = S AV 7 S HVE | = = S AV = S AV B2l =
’ 100kN/mM%#B % % 1.00/ 0.00 ~ 0.65 109.60|3m%E#EZB| - ~ = = -| 100kN/m%#B %% 1.00| 11.26 ~ 13.55 109.60|3m%#BZ 5 -~ = = =
Zhn st 1.001 0.65 ~ 8.43 100.00| #h st [0.00 ~ 843 2.02 10.21 Zhn st 1.00] 500 ~ 11.26 100.00| #h st | 5.00 ~ 13.55| 2.02 10.21
5 100kN/m%#B % % 1.00[{0.00 ~ 1.00 115.08|3m%E#BZB| - ~ = = -| 100kN/m%#B %% 1.00| 10.53 ~ 13.59 115.08|3m%#BZ % -~ = = =
Fh st 1.00/1.00 ~ 879 100.00| Zhli4t | 000 ~ 879 2.18 11.01 ZFh st 1.00] 500 ~ 10.53 100.00f Zh it | 500 ~ 13.59| 2.18 11.01
3 100kN/mM%#BZ % 1.00/0.00 ~ 049 107.29|3m%E#BZB| - ~ = = -| 100kN/m%#B %% 1.00| 12.00 ~ 13.98 107.29|3m%#BZ % -~ = = =
Zhn st 1.001 049 ~ 8.28 100.00f Zh 4t | 000 ~ 8.28] 1.97 9.93 Zhn st 1.00] 5.00 ~ 12.00 100.00|] #h st | 5.00 ~ 13.98| 1.97 9.93
4 100kN/mM%#BZ % 1.00[{0.00 ~ 053 107.82|3m%E#BZB| - ~ = = -| 100kN/m%#B %% 1.00| 12.30 ~ 14.60 107.82|3m%#BZ 2 -~ = = =
Zhn st 1.001 0.53 ~ 8.31 100.00f Zh L4t | 000 ~ 831] 1.95 9.85 Zhn st 1.00] 5.00 ~ 12.30 100.00| #1 st | 5.00 ~ 14.60| 1.95 9.85
- 100kN/mM#Z#BZ % -l -~ = -|3mEBZB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Fh st 1.00/ 000 ~ 527 65.77| #hllst | 000 ~ 000| 1.75 8.86 Fh st 1.00] 500 ~ 570 65.77| #hilst | 500 ~ 570] 1.75 8.86
6 100kN/mM#Z#BZ % -l -~ = -|3mEBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Zhn st 1.00]1 0.00 ~ 5.07 63.22] #h st 000 ~ 507 1.92 9.69 Zhn st 1.00] 500 ~ 5.80 63.22| #hist | 500 ~ 580| 1.92 9.69
; 100kN/mM%#B % % 1.00/ 000 ~ 0.66 109.75|3m%E#BZB| - ~ = = -| 100kN/m%#8 %% 1.00| 11.85 ~ 1453 109.75|3m%#BZ % -~ = = =
Zhn st 1.001 0.66 ~ 8.44 100.00f Zh 4t | 000 ~ 8.44| 1.97 9.98 Zhn st 1.00] 5.00 ~ 11.85 100.00|] #h st | 5.00 ~ 1453 1.97 9.98
g 100kN/mM%#B % % 1.00/0.00 ~ 0.68 110.19|3m%E#BZB| - ~ = = -| 100kN/m%#B %% 1.00| 10.63 ~ 12.56 110.19|3m%i#BZ 2 -~ = = =
Zhnst 1.00]1 0.68 ~ 8.47 100.00| #h1 st [ 0.00 ~ 8.47| 2.26 11.42 Zhn st 1.00] 5.00 ~ 10.63 100.00] Zh st | 5.00 ~ 1256 2.26 11.42
9 100kN/mM%#B % % 1.00/0.00 ~ 0.17 102.52|3m%E#BZB| - ~ = = -| 100kN/m%#B %% 1.00| 10.54 ~ 11.00 102.52|3m%#BZ 5 -~ = = =
ZFh st 1.00/0.17 ~ 7.96 100.00| Zhlist [ 000 ~ 7.96 2.16 10.93 Fh st 1.00] 500 ~ 10.54 100.00f Zhiust | 500 ~ 11.00| 2.16 10.93
10 100kN/mM#Z#BZ % -l -~ = -|3mEBZB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEEZD -~ = = =
Zhn st 1.00/ 0.00 ~ 6.64 83.83| #h 4t | 000 ~ 6.64] 1.78 9.00 Zhn st 1.00] 500 ~ 8.00 83.83| #h st [ 500 ~ 800 1.78 9.00
» 100kN/mM#Z#BZ % -l -~ = -|3ImEBRD| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEEZD -~ = = =
ZFh st 1.00/ 0.00 ~ 460 57.38] #hilst (000 ~ 4.60| 2.00 10.13 Fh st 1.00] 500 ~ 550 57.38] #hbils | 500 ~ 550| 2.00 10.13
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhnist ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEZD ~
st ~ Zh st ~ ZhLst ~ Zh st ~
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